
SPECIFICATIONS:
Weight: Frame: 26g.
Material: Carbon Fiber + Plastic.
Maximum propeller: 2.5 Inches.
Motor mount: Motor 11XX.
Flight controller mount: 16mm x 16mm (4 Holes).
                                          20mm x 20mm (4 Holes)
                                          25mm x 25mm (4 Holes)
                                          30.5mm x 30.5mm (4 Holes)

GosH 2 BL FPV RACER - USER MANUAL

REV. 02-Date:09/28/2017 1/7HELI INNOVATIONS



Flight Direction

GosH 2 BL FPV RACER - USER MANUAL

2/7REV. 02-DATE:09/28/2017

4 x FC Mount

PACKAGE LIST PART

4 x Hex Cap Screw M2x20 
10 x M2x6 HEX CUP 
SCREW SELF TAPPING 
BLACK

4 x Motor Dampener 

2 x RollBar Support

Cover A + B

Receiver  Support

2xBUTTON HEX CUP 
SCREW M2X4 - HEX 
SOCKET 1.5 for Camera

4 x M1.6x4 PAN HEAD 
SCREW SELF TAPPING 
SILVER

Roll Bar

Cover C
HELI INNOVATIONS



4 x FC Mount

Main Frame

2 x RollBar Support

Receiver  Support

Flight Control

ESC

Note: 3 Arrow must be the 
same side

2 x M2x6 HEX CUP SCREW 
SELF TAPPING BLACK

4 x Hex Cap Screw M2x20 

Note: 3 Arrow must be the 
same side
Note: 3 Arrow must be the 
same side

Step 01

Receiver 

Double Side Tape

 1
5 

GosH 2 BL FPV RACER - USER MANUAL

3/7REV. 02-DATE:09/28/2017

Step 02: Receiver Assembly

Note: Back

Front

Flight Direction

Step 01: Flight Control, ESC Assembly

(Not Included)

(Not Included)

(Not Included)

HELI INNOVATIONS



4 x Motor Dampener 

16 x Hex Cap Screw M2x6
(Not Included) 

4 x Motor 11XX 
4 x M1.6x4 PAN HEAD 
SCREW SELF TAPPING 
SILVER

Use Cover Type A for Torrent 110 
Standard Electronic

VTX

GosH 2 BL FPV RACER - USER MANUAL

4/7REV. 02-DATE:09/28/2017

Step 03: Motor Assembly Step 04: VTX Assembly

Use Cover Type B for Custom Building

(Not Included)

(Not Included)

HELI INNOVATIONS



Step 03
Step 04

2xRoll Bar

8 x M2x6 HEX CUP SCREW 
SELF TAPPING BLACK

2xBUTTON HEX CUP 
SCREW M2X4 - HEX 
SOCKET 1.5

Camera: Micro Swift

Step 05

(Not Included)

REV. 02-DATE:09/28/2017 5/7

GosH 2 BL FPV RACER - USER MANUAL

Flight Direction

Back

Front

Step 05: RollBar Assembly

Step 06: Camera Assembly

Note Step 05: Use Cover Type C (included)
 for lighter GosH

HELI INNOVATIONS



Fly Direction
2xCW Propeller

2xCCW Propeller

REV. 02-DATE:09/28/2017 6/7

GosH 2 BL FPV RACER - USER MANUAL

Note rotation direction of the Propeller

FRONT

BACK

Step 07: Propeller Assembly

(Not Included)
(Not Included)

HELI INNOVATIONS



Battery
Suggest: 3S LiPo Battery Pack 30C (11.1V/450mAh)
           or 2S LiPo Battery Pack 30C (7.4V/800mAh) 

Oring 29x2

(Not included)

GosH 2 - Shroud 
(Not included)

Step 08:  Battery Assembly

REV. 02-DATE:09/28/2017 7/7

GosH 2 BL FPV RACER - USER MANUAL

HELI INNOVATIONS


	Sheet1
	Drawing View80

	Sheet2
	Drawing View81
	Drawing View82
	Drawing View83
	Drawing View84
	Drawing View85
	Drawing View86
	Drawing View87
	Drawing View88
	Drawing View89
	Drawing View90
	Drawing View91
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View98
	Drawing View102
	Drawing View103
	Drawing View104
	Drawing View105
	Drawing View106
	Drawing View107
	Drawing View108
	Drawing View109
	Drawing View110
	Drawing View111
	Drawing View112
	Drawing View113
	Drawing View114
	Drawing View115
	Drawing View117
	Drawing View118
	Drawing View119
	Drawing View120
	Drawing View121
	Drawing View122
	Drawing View123
	Drawing View124
	Drawing View125
	Drawing View146
	Drawing View148
	Drawing View149

	Sheet4
	Drawing View126
	Drawing View127
	Drawing View128

	Sheet5
	Drawing View129
	Drawing View130
	Drawing View131

	Sheet6
	Drawing View136
	Drawing View137
	Drawing View147

	Sheet7
	Drawing View132
	Drawing View133
	Drawing View134
	Drawing View135
	Drawing View138
	Drawing View145

	Sheet8
	Drawing View143
	Drawing View144


